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< HAWGT BT (WAMEOE) >

B EMTHILZED L NFER 1148 31.74=
BB 21 EMTHILRENER 14348 20

B3 EEHILRE/NFR 1148 194
AT M ILRED /NP 14348 18.8=
51 = BWILILHENER 1148 1845
2B611 T IR/ BTN 1158 18.12:%
BT = BWILILHENER 1248 16582
BB 811 AT IR/ BTN 1258 16.13:%
B EMM IR E NP 1248 1483
#1011 AP ILRHFANFR 1158 126
F1141 AP ILRHFAENFR 14348 5.9%

B1fL B R AT IL /NP 22 27.185%
2211 =&ML 2% 378 26.15%
BB 31 BRI EENER 2 378 24.37T=
BT B R B T2 BN 2% 1548 23.62%
BB5117 SHEMILNENER 2F 14 23.6=
2611 B R BT I BN 2% 378 23.18%
BTAL EART IR/ BTN 2F 14 23.04=
B8 PR ILRANER 2% 1548 19.6:
C23elva AT I A/ BTN 22 17.6 =
2 10ML BRI EENER 22 13173
B 1L ARSI EFERNER 34 28.255
2211 EMTH IR/ B/ NER 3% 278 28

2R3 =BH I NER 3F1# 26.5%
A BT ILE T NER 3% 278 25.8%
2511 BT ILE ENFER 337 2555
2611 BRI ERNER 3% 1M 24.6 %
BTL BT ILE ENFER 3F1# 24.6
2811 BEHIDRR/NFER 3% 1M 2455
B BRI ERNER 3% 3 1445
B 1M =& 4218 35.1%
B2 = EHILILENER AF 14 33=

B3 ZEHIRNER 4218 31.6=
B FEDEM LA NFER AF 14 27.86

5L FFZEIEFERNAR A4 27.27T=




2611 = BWILILHENER 4218 27.2
BT = BHIET /NP AF 148 255

281 EMTH IR/ B/ NER 4218 20.21=
B9 B ILAE N AF 148 1958
B 1M =&ML NFR 53 41.8=
B2ML =B NFER S5 1 41.66 =
B3 =&ML NFR bEF4HE 41

B4 = BH I NFER S 2% 40

511 BT ILFIBINER bEF4HE 35.32
6L BRI FTBNFER S5 1 31.21%
BT BEHIDRR/NFER b2 30.27=
8L P VNIV ROVANE Y S 4% 30.16%
B BT ILA T NER 53 29.38
10ML BRI E /NP S5 14 26.08 =
F11AL BT ILFIBINER 53 25.91%
F1211 BEHIDRR/NFER b 18 22.62
B = BEMILET NP 64 178 36.5%
BB 21 =BH I NER 6 37H 35=

231 BEHILRR /NP 6 140 33.16

< H#HAWGT BT >
(H5RI521E]

B 1M B IIAR/ IR 5- 648 35.45
B2ML SHEMIR/NER NHRC = FHR 30=

231 EMTHIIH ENFR (OF T ol | 22.2255




